UPSR 025/1 SULIT

1. Round off 586 341 to the nearest hundred thousand.
State the answer in million.

586341 EBE 17 (0 RIS I 1B
HUETWNEHESE,
A 0.6 million
06 57
B 0.59 million

059 B7
C 0.586 million

0.586 57
D 0.58 million

0.58 577

2. Diagram 2 shows a number card.
B 2.2 —%#EF+

9.467

Diagram 2
/& 2

What is the value of digit 4 on that card?
TEXF~L 4 HHEEZD ?
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3. Diagram 3 shows two cards of equal size. Each card is divided into several equal
parts.

B 3 BT BHKETHEA DI Fhe BEFH DI INETHEAXDEIEES

Diagram 3
&3
Calculate the total percentage of the coloured regions in both of the cards.
1T EX B KRR BES B
A 25
B 60

C 85
D 95

1
4. 2= days=
3 y

2l x=
8

A 18 hours
18 )Y
B 45 hours
45 )it
C 51 hours
51 gt
D 61 hours
61 AT
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5. Diagram 5 shows the mass of a coconut and a pumpkin.
B 5.2 —I\BF5— 1 BAREE,

3.3 kg 9909

Diagram 5

&5

Which of the following shows the total mass of both fruits?
TS BFTE 5% B 1N KR AT H T8
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6. Diagram 6 shows a cuboid.
B 6 Z 7 — TNt

SULIT

Jcm

Diagram 6

&6

4.¢cm

2cm

Which of the following is the correct net of the cuboid?

T BT % K2 A9 EB IS 2
A

7 cm
4 cm
4 cm
2 cm
4 cm
2cm
B
7cm
2am 4 cm
2cm
4 .cm
2cm
C
¥ cm
4 .cm
4 cm
2cm
4 cm
4 cm
D
7cocm
4.cm
icm
2Ccm
4 cm
2cm
[4]
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7. D - 20 096 - 900 = 33 654 . What number must be written in the ?
[ 20006-900=33654. 2 [ |mtgLrrasn »

A 12658

B 14458

C 54640

D 54650
8 32 - 1l =

5 10

A 12
10
B 1.
10
c 23
10
D 2l
10

9. 1955+ 8= .Round off the answer to three decimal places.
195.5 = 8 = HEEFEEH 3 1N,

24.437
24.438
24.440
24.447

oo w>»

10.  Which of the following is the largest value?
FHBTRIERA ?

A 80% x RM9.50
B 60% x RM5
C 45% x RM4
D 20% x RM3.50

[5]
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11. (612X 5)- (56 x 30) =

1380
2 060
3 360
4740

oo wm>

3.1 _
12. 7-337+25 =

O w >
~ N [EEN

O
Ul

13. 9.3-(7.8+1.26) =

0.06
0.24
1.36
0.94

OO w>

14. Calculate 5550 000 - 2.09 millions.
Round off the answer to the nearest hundred thousand.

118 55650000 -2.09 7.
EERER 17 T E,

4 000 000
3600 000
3 500 000
3400 000

O w>
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15. Diagram 15 shows the time on a clock.
B 15 2 75 — 1T _LAIATIH o

Diagram 15
K15

2 hours 50 minutes before the time shown is

HEIXATIEIRY 2 )ET 50 5 #.2 B &

oO0OwW>

10.15 p.m.
6.35 p.m.
5.35 p.m.
4.35 p.m.

16. 100X 6 m =4 m 20 cm. What number must be written in the D ?

100X 6 m=4m20cm. El |EFESHALHE?

oO0Ow>

700
70
0.7
0.07

17. RM511+14=

A

B

C

D

3 pieces of RM10 + 1 pieces of RM5 + 2 pieces of 50 sen
3 #RM10 + 1 5£RM5 + 2 7/~50 sen

3 pieces of RM10 + 5 pieces of RM1 + 3 pieces of 50 sen
3 7KRM10 + 5 7 RM1 +3 -/*50 sen

2 pieces of RM10 + 3 pieces of RM5 + 1 pieces of 50 sen
2 £ RM10 + 3 7£RM5 + 1 7~50 sen

2 pieces of RM10 + 2 pieces of RM5 + 6 pieces of 50 sen
2 7K RM10 + 2 £ RM5 + 6 7/~50 sen

[7]
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18. 141+4=
Match the answer with the volume of water in the container.
1l41+4=
BB RS RS E K EFRIEE
A B
—_
ey
—— \H—‘.‘-‘-‘_‘—-—_-—-—'_'_ﬂ’"
1 — 1000 mi
C D
_
ey
=+ 500 mi
ll’_.,_.--—'—'_'_‘_‘—----..._\_N 1
\-"""'—n_.______._-—'—"""} - .
-+ 1000 mi 1
e T A 1
‘*«-____‘:____H’ —

2

19. Calculate the average of % km, 1g km, 0.15 km and 4 km, inm.

KUmbef, it8 % km, 1% km, 0.15 km 5 4 km B9F19%,
A 155
B 160
C 1575
D 1600

20. Table 20 shows the sales of mangoes teens in three days.
F* 20 EFILTTHE=XEHHES,

[8]
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Day Total number of mangoes teens | Number of mangoes teens sold
x TR EE L TTEHiRy# 2
Monday 500 473
EH—
Tuesday 460 90% of total number of
EH— mangoes teens
90% 1L TRy # EE
Wednesday 500 486

=

Table 20

% 20

How many mangoesteens in total were not sold in the three days?

TEX=XEFREELRIILTTHIHEEZ L ?

O wW>

87
77
63
36

21. Table 21 shows the number of pairs of socks produced by a factory
7% 21 BRI/ £/~ FHIHE,

Colour of socks Number of socks
HFHIEE HFHIHE
Red socks 87462 pairs
A EHF 87462 XX
White socks 79885 pairs
HE&#F 79885 XX
Blue socks 1280 pairs more than white socks
EBEe#F HHEHFZ 1280 XX

OO w>

Table 21 / & 21
Calculate the total number of pairs of socks produced by the factory.

ITEZT) FrE7~# 78 # &,

248 512
248 412
247 512
168 627

[9]
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22. 4% x 370g=

0.258 kg
1.554 kg
15.54 kg
1554 kg

oO0Ow>

SULIT

23. Table 23 shows the points scored by four sports houses during an annual sports

day at a school.

7 23 B R R F K EFE5) 20 TR BT ZH9 7 # o

Sports houses Point
M1 T
Red 80
T
Green 2 points more than Red
EF AU % 2 %
E;I:Je %of the Red points
4

T /.‘775
Yellow 6 points less than Red
B LI 2 6 %

Table 23/ & 23

What is the fraction of the points for the Red house to the total points of the four

sports houses?

TR 5# G 4 XA DAL 52 ?

Al

o
| 3] b

= | e
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24. Jamil has 6 400 marbles. %of the total number are red. éof the marbles are blue

and the remaining are yellow.
How many of the marbles are yellow?

EXRKINE 6400 ¥ KIEHK, LU ERHEHELK LT E;?é?ﬂé?% o FIRFEHEKA

l s
=
5

B, AR EEBREHEK,
EOREHEZE/ L ?

1600
1280
1000
320

oO0OwW>

25. Diagram 25 shows the number of pens in two boxes, P and Q.
B25 BB INEFPE5EQENEHNHE,

P
410 pens Q
410 HHE 270 pens
270 BZE
Diagram 25
B 25

Muin took a number of pens from box P and 30% of the pens from box Q.
The total number of pens he takes is 327.
Calculate the percentage of the pens taken from box P.

RENEF P HEZH —LWERMEF Q HEH 30%HINE, HAFZHH
ZH HEHE 327 1%,
ITEMEF P HEHHINEN B 7o

30
35
45
60

OO wWw>
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26. Hasan buys 4 boxes of mangoes. Each box contains 50 mangoes. 6% of the total
mangoes are rotten.
How many mangoes are not rotten?

IGLLIGE 4 FEER, BHEE 50 1 R, BF 6% EREIFH

HFRIERREZL ?
A 156
B 164
C 188
D 192

27  Kumar saved RM580 in July. In August, he saved RM200 more than he saved
in July. In September, Kumar saved RM75 less than he saved in August.
What is Kumar's total savings for the three months?

LA GRIEEE RM580, /18 GHIEEL LA G2 RM200, £
A, taiEZH /BG4 RM75,
ZEEX=1TAEELREZD ?

RM705
RM780
RM2 065
RM2 155

OO w>

28. Diagram 28 shows the time Cikgu Subra left his house in the morning to go to
education office.

B 28 \Z 7 BHEIFE £ FMF LK ZZE/THIATIH

Diagram 28
& 28

Cikgu Subra took 1 hour 40 minutes to reach education office. He spent for

3%hour there.
At what time did he leave education office?
[12]
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FEH LI 1 )T 40 P A HE B, HETIER 3% D,

M ZBIREITHE/T ?

A 1430 hours
1430 #f

B 1435 hours
1435 #f

C 1520 hours
1520 #/

D 1610 hours
1610 #/

29.  Table 29 shows the distances from the houses to the airport for three taxi drivers

7 29 B =1 L AIBIAI T S #1252 IH I BB o

Taxi driver #91 &7#1

Distance Z5&

Mansor £47 3.6km
Ab.Satar
o 6 1 km
P EB43A 5
Mahmood 900m less than the total distance from Mansor’s and
o Ab.Satar houses

LEES TR PTELA RIS YT 2 IHHY & BB 900m

Table 29/ & 29

Which of the following diagrams represents the information in Table 29 correctly?
THIHNERR 4 HIEHEE ?

A gx

Mahmood

P #8203
Q.2 km Ab. Satar
6 500 m
Lapangan Terbang 36 km Mansor E’ﬁﬁ‘-
. ==
K2/t
[13]
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B =z LTF- 195
Mahmood
£.95 km Ab. Satar
6250 m
Lapangan Terbang 3.6 km Mansor ,‘Eﬁ/il,‘-
C R/57
=S PB4 A
armooa
8.9 km 6.2 km
| Lapangan Terbang }—m
3 600 m _“z% ﬁlzf—
K2/
D =2 f] #R 3k
Mahmood Ab. Satar
B.85 km 6.15 km
Lapangan Terbang Mansor
3600 m 2
/5%
[14]
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30. Badrul's age is 54 years old. In 6 years time, Kamil will be half the age of Badrul.
How old is Kamil now?

BESFSLZ, 6 Flg, FRIBFHEDEL—F,
FRINHEL FEEEZD ?

A 38 years
38 &

B 30 years
30 #

C 24 years
24 %

D 22years
22 &

31. Table 31 shows the masses of three boxes W, X and Y.
FIEFW XEY =/ EFHEE,

Box Mass
= Y3
wW 600 g less than X
LEX2600g
X 2.3kg
Y 1.5 kg more than W
tbW % 1.5 kg
Table 31
7 31

Calculate the total mass, in kg, of the three boxes.
L kg HEL , ITEX=1EFHERE.,

4.4
5.5
7.0
7.2

OO w>
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32. The base area of a tank is 930 cm®. The height of the water tank is 24 cm.
gof the tank is filled with water.
Calculate the volume, in cm®, of the water in the tank.

— NBATE L FHLE 930 o, BATHEEE 24cm, 1EEHTH % SEAK
K omd K&y i AT E KA,

5 880
7 440
14 440
14 880

OO w>

33. Table 33 shows the scores given to a swimmer by the judges from five different
countries.

7 33\ 75K B LN T [ E 5K #H)48 — (L Bk F 19 5 o

Judge Score
#ZH S#
Indonesia 7.32
HE
Philippines 5.86
FEREE
Japan 6.06
A%
Myanmar 8.15
Ity
Singapore 6.84
A%

Table 33/ &% 33

The highest and lowest scores given by the judges are not included as the total score.
What is the average score of the swimmer?

ZH T IR R B R R T E T 1 BB 5 AH o
ZWKEF IR P MEZD ?

4.04
4.74
6.74
6.84

OO w>»
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34. Diagram 34 is a pictograph showing the number of watches sold by a company
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over four months.

B 34 B REG I EE R R L GEE B AP ESLR) F A #H 8.,

July £ H

August /\H

September JLH

October +H

The number of watches sold in November is 8% more than in October.
What is the total number of watches sold from July until November?

mewakili 50 jam tangan

Diagram 34
& 34

#* 1T —AGFTELH FRAMELL 1 B 17492 8%.
MEAGEF—AGHTELHHFRLKEZD ?

1416
1400
1216
1200

o0Ow>
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35.

Diagram 35 is a bar chart showing the number of flood victims in four centre V,
W, X and Y. The number of flood victim at Z is not shown.

B 35 RIBEZITBET V., Wo X, YEZBPKXHIKREAH KX ZH
KA B0R B 7T 1 Fo

Number of flood victim

REBHIA

&

800
700
&00
500
400
300

200
o

Diagram 35
& 35

Allocation centre

HIH D)

The average number of victim at the five centre is 480.
Calculate the number of victim at centre Z.

PIPNK X FI R FRFITA #2480 o
ITERX Z BIKBRAH.

230
480
1050
1350

o0Ow>

[18]
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36. Diagram 36 shows triangles JMN and KLM.
& 36 2 ;5 = A JMN 5 KLM.

J 5cm M
t\‘ﬁ cm
8 cm N
L 10 cm “
Diagram 36
& 36

The length of MN is % of JL. The length of JN = NK.
Calculate the perimeter, in cm, of. the whole diagram.
MN B REE I B~ o KB IN = NK

Blem X &1L, it E2E8/EK,

29
33
35
39

o0Ow>

[19]
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37. Diagram 37 shows a rectangle WXYZ.

B 37 BT KRG WXYZ
W 15 cm »
z Y
Diagram 37
& 37

The area of the coloured region is 30 cm2. This area is % of the area of the

rectangle.
Calculate the length, in cm, of XY.

RITE % B FTARE 300, 15 MNEFREK TR % .
Kom HEf, iHE XY BKE,

30
24

O wW>
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38 Diagram 38 shows 3 cuboids C, D and E.
B 3827 C, D5 E =1NEF,

4 ¢im

4 om

Jom

D

E

7 om

Acm

7em

Diagram 38
& 38

The lengths of each cuboid is 8 cm.

Calculate the total volume, in cm?®, of the three cuboids.

FNETHHEEZE 8 cm

B emp nELL , it EX =N S MR,

A

B
C
D

1388 cms?
1288 cm?
616 cm3
40 cm?3

[21]
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39. Diagram 39 shows triangles, F, G, H, J and K drawn on squares of the same size.
B39 BR=AFEF, G H JSKEEERMFEXHIEFHEL,

p P \ AN
F ] IG A H b, ,rj ]J \ I< \\
I | I I I
Diagram 39
& 39

Which of the following has the same area as triangle F?

F o1 = AR EIFR S = B F BEIHREE ?

OO w>
ACTO

40. Diagram 40 shows rectangle STUV.
B 40 Z " K5 STUV.

S Jem T

6 cm

Diagram 40
& 40

Which of the following diagrams have the same perimeter as rectangle STUV ?
TG IE R ERERLTE STUV B /FKHEE?

[22]
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| 5em
6 cm
7em
1]
7cm
J3cm 3cm
7 cm
A | dan 1l
B Idanlll
C lldan I
D Illdan IV
[23]
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